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Seat No.: ________                                                      Enrolment No.______________  

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGG.- V

th
 SEMESTER–EXAMINATION – JUNE- 2012 

Subject code: 351902/2351902            Date: 05/06/2012        

Subject Name: Design Of Machine Element 

Time: 10:30 am – 01:00 pm        Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is considered to be Authentic 

Q.1 (a) (i) Explain “Stress Concentration” and methods of reducing it. 

(ii) Explain in brief various factors affecting the value of Factor Of 

      Safety. 

07 

 (b) (i) State various factors affecting the design of a machine element, 

     and explain any one in brief. 

(ii) Define following : 

(1)  Torsional shear stress (2) Standardization  

(3) Buckling load (4) Preferred numbers. 

07 

Q.2    

 (a) A cotter joint is to resist an axial load of 45 KN. The allowable 

stresses are : [ σt ] = 75 N/mm
2
, [ τ ] = 55 N/mm

2
 and [ σcr ] = 150 

N/mm
2
. Find : 

        (1) Diameter of rod end (2) Diameter of the enlarged end of 

              Spigot (3) Width and Thickness of cotter. 

07 

 (b) A double riveted lap joint is to be used to connect two plates 12 mm 

thick. The diameter and pitch of the rivets are 15 mm and 60 mm, 

respectively. If the allowable stresses for the plates and rivets are :  

[ σt ] = 65 N/mm
2
, [ τ ] = 55 N/mm

2
 and [ σcr ] = 90 N/mm

2
, find : 

        (1) Strength of the joint (2) Efficiency of the joint. 

07 

  OR  

 (b) Standardize 8 shaft diameters between 40 mm and 250 mm. 07 

Q.3    

 (a) A rocker arm has two arms 150 mm and 200 mm in length. The 

included angle between the arms is 150º. It exerts a maximum load 

of 3 KN at the valve end at a distance of 150 mm from the fulcrum 

pin center. If the allowable stresses are : [ σt ] = 70 N/mm
2
, [ τ ] = 40 

N/mm
2
 and [ pb ] = 90 N/mm

2
, then neglecting the pin bending,  

find : (1) Diameter and length of fulcrum pin, if  l/dp = 1.2 (2) Cross- 

              section of the rocker arm near the boss, if  h/b = 2.5. 

07 

 (b) A closed coil helical spring is to be designed for loads ranging from  

4 KN to 4.5 KN. The axial compression of the spring is 8 mm and 

the spring index is 6. If the allowable shear stress for spring material 

is 320 N/mm
2
 and modulus of rigidity is 80 KN/mm

2
, find : 

       (1) Spring wire diameter (2) Number of active coils (3) Stiffness 

             of the spring. 

07 

   

OR 

 

Q.3 (a) Give classification of Couplings. State the requisits and applications 

of couplings. 

07 

 (b) A semi elliptical leaf spring has 12 leaves; in which first two are full 07 
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lengths leaves and the remaining are graduated leaves. The span of 

the spring is 1200 mm and leaves are held together by a central band 

clip 80 mm wide. Maximum load on the spring is 8 KN and the 

permissible bending stress is 300 M Pa. If the ratio of the total 

thickness of the leaves and its width is 1.5, find : 

       (1) Thickness and width of a leaf.  

       (2) Maximum deflection of the spring. Take, E = 2 × 10
5
 M Pa. 

    

Q.4    

 (a) A maximum clamping load of 12 KN is acting at the end of a  

“C-Clamp”  having rectangular cross-section. The distance between 

the neutral axis of the cross-section and the load axis is 120 mm. 

maximum safe stress for the clamp is 100 M Pa. Find out the 

dimensions of rectangular cross-section of the clamp. Take the 

height of the cross-section twice its width. 

07 

 (b) Give classification of Pressure Vessels. List various applications of 

pressure vessels. 

07 

  OR  

Q. 4 (a) The cover of a hydraulic press cylinder is secured by means of 6 

chromium bolts. The inner diameter of the cylinder is 100 mm and 

the maximum fluid pressure is 15 M Pa. The initial tightening load 

on each bolt is 10 KN. If the allowable stress for the bolt material is  

45 M Pa, find the size of bolts. 

          Take, overall stiffness co-efficient = 0.6. 

07 

 (b) The maximum internal pressure of 8 N/mm
2
 exerts in a cylindrical 

vessel having 180 mm external diameter and 15 mm plate thickness. 

Find Hop stress, Longitudinal stress and Maximum Shear stress. 

Also, state the type of this cylinder as per D/t ratio. 

          Take, the Joint Efficiency = 80 %. 

07 

    

Q.5    

 (a) Compare the bearing performance of Sliding Bearing and Rolling 

Bearing on the basis of various bearing characteristics. 

07 

 (b) With the help of neat sketches, state and explain the equations of 

possible failures in a riveted joint. 

07 

  OR  

Q.5 (a) List various bearing materials. Explain important properties of 

bearing materials. 

07 

 (b) What may be the maximum efficiency of Screw Jack, and why ? 

Obtain the equation for the Efficiency of screw jack. 

07 

 

************ 

��������----૧૧૧૧ (અ) (i) “
��સ કો�સ���શન” સમ�વો, અને તેને ઘટાડવાની ર તો સમ�વો. 

(ii) ફ#ટર � ઑફ સે%ટ ને અસરકતા& િવિવધ પ*રબળો સમ�વો. 

07 

 (બ) (i) મશીન ઍ.લમે�ટની *ડઝાઈનને અસરકતા& પ*રબળો જણાવો, અને કોઈ પણ 

    એક સમ�વો. 

(ii) નીચેના પદોની 7યા9યા આપો : 

       (૧) ટૉસ&નલ શીયર 
��સ (૨) માનિનધા&રણ (૩) બક.લ?ગ ભાર  

       (૪) િ�ફડ& નબંસ&. 

07 

    

��������----૨૨૨૨ (અ) એક કૉટર જોઈ�ટને 45 KN ના એDીયલ ભારનો સામનો કરવાનો છે. મા�ય 07 
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��સીસ આ �માણે છે : [ σt ] = 75 N/mm
2
, [ τ ] = 55 N/mm

2
 અને  

[ σcr ] = 150 N/mm
2. નીચેની િવગતો શોધો : 

        (૧) રોડના છેડાનો 7યાસ (૨) F
પગોટના મોટા છેડાનો 7યાસ  

        (૩) કૉટરની પહોળાઈ અને �ડાઈ.  
 (બ) 12 mm �ડ  બે Hલેટને જોડવા માટ� એક ડબલ *રવેટ�ડ લૅપ જોઈ�ટ વાપરવાનો 

છે. *રવેટનો 7યાસ તથા પીચ અKLમે ુ 15 mm અને  60 mm છે. જો Hલેટ અને 

*રવેટ માટ�ના મા�ય 
��સીસ : [ σt ] = 65 N/mm
2
, [ τ ] = 55 N/mm

2
 અને  

[ σcr ] = 90 N/mm
2 હોય, તો શોધો : 

         (૧) જોઈ�ટની 
���થ (૨) જોઈ�ટની કાય&દDતા. 

07 

  અથવાઅથવાઅથવાઅથવા     

 (બ) 40 mm અને 250 mm વNચે 8 શા%ટના 
ટા�ડડ& 7યાસ શોધો. 07 

��������----૩૩૩૩    

 (અ) એક રોકર આમ&ના બે આમ&ની લબંાઈ 150 mm અને 200 mm છે.બે આમ& 

વNચેનો Oણૂો 150º છે. તે વાQવના છેડ� ફQLમ પીનથી 150 mm Rતર� 3 KN 

Sટલો મહTમ લોડ ઉVપW કર� છે. જો મા�ય 
��સીસ : [ σt ] = 70 N/mm
2
,  

[ τ ] = 40 N/mm
2
 અને [ pb ] = 90 N/mm

2 હોય, તો પીનK ંબેX�ડગ ુ

અવગણીને શોધો : 

          (૧) ફQLમ પીનનો 7યાસ અને લબંાઈ; જો l/dp = 1.2 હોય તો. 

          (૨) બોસ નZકના રોકર આમ&નો આડછેદ; જો h/b = 2.5 હોય તો. 

07 

 (બ) એક #લો[ડ કૉઈલ હ�.લકલ F
�\ગ 4 KN થી 4.5 KN ની લોડ ર��જ માટ� *ડઝાઈન 

કરવાની છે. F
�\ગK ંઅ.Dય કૉ]�ેસન ુ 8 mm છે અને F
�\ગ ઈ�ડ�D 6 છે. જો F
�\ગ 

મ*ટર યલ માટ� મા�ય િશયર 
��સ 320 N/mm
2 હોય અને મૉડ^લસ ઑફ ુ

ર Zડ ટ  80 KN/mm
2 હોય, તો શોધો : 

          (૧) F
�\ગ વાયરનો 7યાસ (૨) એX#ટવ કૉઈલની સ9ંયા  

          (૩) F
�\ગની X
ટફનેસ. 

07 

      

અથવાઅથવાઅથવાઅથવા 
 

��������----૩૩૩૩ (અ) કપ.લ?ગK ંવગ_કરણ કરોુ . કપ.લ?ગની જ`ર યાતો અને તેના ઉપયોગો જણાવો. 07 

 (બ) એક સેમી ઈલીHટ કલ �કારની લીફ F
�\ગમા ં12 પaીઓ છે, Sમા ંપહ�લી બે પaીઓ 

cલ લે�થની છે અને બાક ની dેefએટ�ડ પaીઓ છેુ . F
�\ગનો 
પાન   1200 mm 

છે તથા તેને 80 mm પહોળા સે��લ બે�ડ વડ� પકડ�લી છે. F
�\ગ પર મહTમ લોડ 

8 KN છે તથા મા�ય બેX�ડ\ગ 
��સ 300 M Pa છે. જો F
�\ગની પaીઓની gલ ુ

�ડાઈ અને તેની પહોળાઈનો hણોTર ુ 1.5 હોય, તો શોધો : 

         (૧) પaીની �ડાઈ અને પહોળાઈ (૨) F
�\ગK ંમહTમ *ડ%લે#શનુ  

E = 2 × 10
5
 M Pa લો. 

07 

    

��������----૪૪૪૪    

 (અ) લબંચોરસ આડછેદવાળા એક C #લૅ]પના છેડ ઉપર મહTમ 12 KN નો #લૅF]પ\ગ 

લોડ લાગે છે. આડછેદની �f�લ એDીસ અને લોડ એDીસ વNચેK ંRતર       ુ ુ

120 mm છે. #લૅ]પ માટ� મહTમ સલામત 
��સ 100 M Pa છે, તો આડછેદના ં

માપ શોધો. આડછેદની iચાઈ તેની પહોળાઈ કરતા ંબમણી લો. 

07 

 (બ) દાબપાjોK ંવગ_કરણ કરોુ . દાબપાjોના ઉપયોગો જણાવો. 07 

     અથવાઅથવાઅથવાઅથવા  
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��������----૪૪૪૪    

 (અ) એક હાઈkો.લક �ેસના િસ.લ�ડરK ંકવર ુ 6 Lોિમયમ બોQટ વડ� ફ ટ કરવામા ંઆવેl ું

છે. િસ.લ�ડરનો Rદરનો 7યાસ 100 mm છે અને %lઈડK ંમહTમ દબાણ ુ ુ 15 M 

Pa છે. દર�ક બોQટ પર 10 KN Sટલો ઈિનશીયલ ટાઈટિન?ગ લોડ લાગે છે. જો 

બોQટ મ*ટર યલ માટ� મા�ય 
��સ 45 M Pa હોય, તો બોQટની સાઈઝ શોધો. 

ઓવરઑલ X
ટફનેસ કૉ-એ*ફિશય�ટ = 0.6 લો. 

07 

 (બ) 180 mm એ#
ટન&લ ડાયાિમટરવાળા, 15 mm Hલેટની �ડાઈવાળા એક 

િસ.લ�ડરમા ં8 N/mm
2 Sટl ંમહTમ ઈ�ટન&લ �ેસર લાગે છેુ . તો mપ 
��સૂ , 

લો�Zટnડ નલ 
��સ અને મહTમ િશયર 
��ુ સ શોધો. D/t hણોTરને આધાર� ુ

િસ.લ�ડરનો �કાર જણાવો. સાધંાની ઍ*ફિશય�સી 80 % લો. 

07 

    

��������----૫૫૫૫    

 (અ) િવિવધ બે*ર?ગ લાD.ણકતાઓને આધાર� 
લાઈડpગ બે*ર?ગ અને રોલpગ બેરpગની 

કાય&Dમતાની સરખામણી કરો. 

07 

 (બ) 
વNછ આgિતઓની મદદથી *રવેટ�ડ સાધંાનાૃ  શs ભગંાણના ંtjૂો લખો અને 

સમ�વો. 

07 

  અથવાઅથવાઅથવાઅથવા  

��������----૫૫૫૫    

 (અ) િવિવધ બે*ર?ગૅ મ*ટર યલના નામ જણાવો. બે*ર?ગ મ*ટર યલના અગVયના hણધમu ુ

સમ�વો. 

07 

 (બ) 
v wકની મહTમ કાય&દDતા x ંહોઈ શક�ુ , અને શા માટ� ? 
v wકની કાય&દDતા 

માટ�K ંસમીકરણ મેુ ળવો. 

07 

 

************ 

 


